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QUESTION 421

How does the WLSE determine that an AP isa rogue AP?

A. The AP's SSID does not exist in the WLSE database of know BSSIDs.
B. The AP's BSSID does not exist in the WLSE database of know BSSIDs.
C. The AP does not respond to SNMP Queries.

D. The AP can not be discovered through CDP.

E. A CCX client reports the AP as rogue.

Answer:

QUESTION 422
What is the major difference between L2 and L3 fast secure roaming?

A. L3 roam is faster than L2 roam.

B. L3 roam requires extra hardware ofther than the access points and WDS.
C. L2 roam is mesecure than a L3 roam.

D. L3 roaming is required for IP telephony.

E. L2 roaming is standardized, where as L3 roaming is not.

Answer:
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